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B C B/C DI @PIB|D|D]|B
1 [deimE 250 A=k B A X FPBE5L< 216, 226 171, 963 28l vlvlrlrirviAalB]lB]B]IB|B|IBl]A]IB[B|C|B|A[C]|C
2 |deiEE JLZ=4n A[=R=110 BBER rEWEbh 53,229 38, 460 BlrlivivivivialB[B]IBlAlA]IB][AIB]IB]|IB[-]A][—-]C
3 |deim&E| BRIREER Al=h=) ERXZ R ShEbhbLYw S 82,007 19,230 | 426/ L[ [Lr]LlL]AlBIBlA[AlA]IB][c[Blclc[B]c[B]C
4 [hmE| HSILE A=k KEDR TWIFTADESH 243, 658 175,299 [ 1.3l v Ll lvlvBlAl—=[Blc|Blc|BlAlAlA]l-TA]-]C
b |dEdE| HEFRE A[=R=110 ERRMEDIR SIEHEIEDEH 190, 992 81,728 [ 2.34l L |LlLrLr]B]B]BlA|B|B|lCc|lc|]A[A]lcCc|]cCc|]A[C]C
6 |deim&| PHEAEAEE A=k NI H X Zhbhb < 69, 882 38,460 [ 1.8l L[L]Lrfr]Lr]AlBlBIB|B|B[B]lA[A][C[B]|B[A]C]C
7 |deimE|  ENIAEER A=k AvFIRFFAIR CobLIFEERLED 200, 807 69,380 | 2.89 L[rfr|r]lr]AalBl—=—[Blc|B|B[A[B|[B|-[A[A][A]C
8 |dtiEE B A[=R=110 RZER#X B IHEL 792, 466 602, 389 lvlivliviviviBlA]lBIBlIA|IB|IBIA]JA[A]B|IB|A[B]|C
9 [deitE J:lrﬁ“‘ﬁ A=k NV HX IFAalrs< 61,829 52,145 lvlvlvlivliviBslBlAlIB]IB|lA]l-]A]B[C|—]—]A[C]|C
0 [  E)EER Al=h=) R IR FAZS LD 80, 234 61, 206 sifvlvliviviviBlAalAlAlBIB[B[B[B|lclc[B]A][B]C
HEZ T A== E+EiR ML TASH 76,130 6,731 [11.31{rv]rlr]rlv]BlB[BlIBlBlA][B]lA[B]lCc]|—-—[-]B[—-]C
2 [deiE FaEFI A=k ARG EDS5ZEFAYR S 259, 535 93,936 | 276l L[LfLr|Lr]lvr]AlBl-[Alc|B|-[Alc|lc|-[-[A]-]C
3 [deiEwE| HERE A=k TTHMZ D1 377Y AIFAF DI 106, 032 24038 [ 441l L]Lr]vr]uv]Bl—=-]B]BlAlc[clAl[B[B|[c|lcl[A]c]cC
4 | HWERE A== STTHMZ D2 3TTY AMIFAFED2 40, 686 11,638 [ 363 L] lv]Bl—=]B]B[Alc]clAalB|[B|lc|[c]A]c]C
5 [deiE ’fﬁA Eaah Al=h=) IR X B-CLURE) HHldFEH L B-CEASNL) | 231,955 67,306 [ .45l L {rlrlrvlLr]Bl—=-1AlBlAlc][Bl[A]lAlAlCc]B[A]C]C
6 |deimiE|  $EERS A=k I S 3 X HRITFESL < 257,399 124,996 [ 206l L[L|Lvlv]LvIBl—-]A[B]lA]lc][B]lA[A]lA]C|B[A]C]C
7 |demE|  BEIFEED A[=R=110 HERK FAEFYBL 26,897 2500 215 vl =1lAlB]IBlAlA]l-[Bl[clc|B[-]1A[—-]C
8 |dtim&| +REEER Al=h=) FERRE HESBAEAS D 55,423 9,230 2.8 rlrlrlrlv]IBl—TAlBlAlc]-]A[Blc|—-—]-1A]l-]cC
9 |dtimE N A=k rbv:d—»r,RJII SLnElEbhb 101, 671 9230 [ .29 L|LlLrlLlLrAalA]l—-—]TA]lA]lA]B|]A]|B[B]|]C|A]B[B]|C
20 |dtimE & A[=R=110 HEAN EEEER MrEZEVWDELELS D) 238, 700 57,690 [ 414l Ll lLlLrlr]Bl—=]BlB|B|l—-]—-lAlB[A]|—-]—-]B[—-]C
21 [dtiEE ®E A5 2RI (= J:%%) LEFEELL FBhHFELS D) 277,912 19,230 [14.45 vl vl uvBl=IBIBlIB]l-1T-TAlAlAl-T-1B]-1C
22 |dtimE & Al=R=10 [EiR &R #h X HoEXREL 204, 202 181,495 [ 113l v Ll lvlvIBl—=[B[B]lBlA[B]A[c|clc|AlA]B]C
23 |dtimsE R KRt R A 1 EEEM 583,072 229,722 | 254 L L] L]AlAl=-[A]lAAlA]l-]—-]-[A][B|A]-]C
24 [dmE 225N REMEE E Rl X HLRDEL 811,116 82,642 [ 9.8l |LlLrlr]ur]BlBl—]clclclAa]l-[T-1T-1-1]clc]c]|c
25 |deimsE 2250 REHEE XME#X UIEWLS < 119, 818 16,237 | 7.38[ L |lr]lrvlvrlvrBl—=[Blc|B[-[A]lB|—-]—-[—-|B|l|A]B]|C
26 |dtimE|  BEEAdLED REMEE PR - R IEIEA - 5256 0,275 569 [18.06l Ll Ll Lr]LrBl—-[BlB]lB]l-[A]lB[-]-1-1-[B]—-]C
2] [deimiE| BREHILER REHEE TA#X L3HFELL 76, 000 6,205 [12.25{ L]l lv]Bl—=[B]BlBl[-]A][B[-]-]1-T1-1B[—-]C
28 [deimiE| BREHILER REHEE O - BFE#X hbh<t - S5ELEL 20, 540 1,076 [19.09l Lv]Lrlvlvr]IBl—=]BlIBIBl-]lA[B]l-T-1-1-1B[-]C
29 [demE| EHEEs B S AR aE Rk L - BBt X S5ZAUB - LEIhBL 34,233 6,678 s.13(vlrlrlrlv]Bl—=[B]BlIBl-]A][B[-]-]—-]cl|B[cCc]|C
30 [deimsE| EJIIEER BB | XIEE - F15] - BFMK TLBET - h&HLAD - &25< | 348,978 i3 (120 LlvlLlrliv]—]1-1-1B]l—-]l—-]1AlB|]-[—-]—-]cl]c|c]|c
31 [demdE| EJIHEER REMEE X HEHEME L 328, 492 33,30 [ o8l —1Al-0IBl—-]1—-]A]B[B[c|clc|[c]c]|c
32 |dtimE|  _EJIdeED REMEE | BERER - BEMEHR (s5608hLs5005 - UKL MABL 81,178 13,186 | 616l L[ L]Lr]lL]Lr]—=[B[=-|B|l-[-[A]B]|B|lc|[c|c|]c|]c]|c
33 |dtimE R b $58 K5 ik A — IR H—<FLL 14,817 65 [21.95[L]Lluvlv]uvBl—-[BlB]lBl-[A]lBl[-]-1-1-TA]-1C
34 |dtimE =B By & Ak 15 Bk RiLHh X =55256< 23,528 9,95 | 236 LlLrlrlrlv]IBl—=[B]BlBlAlA]lB][-]—-]1-T1-1B[—-]C
35 [duimsE =B B 5 #A 15 B HEHX zZ=LBL 59, 280 12,668 | 472l |vlv]vrlv]Bl—=[B[B|lB[-[A][B|—-]-]- B C
36 [dLimiE =B REMEE it X HEYHL 3,824 1,548 83l =IB]Blclcl—-]Aal-1T-T-1Tcl-TAl-=-1]c
37 |dtimE B FRMER| FEM - RN Az EL - FHRYREBL 5,140 6,970 217(v]vrlrlirlv]BlBl-lclBl-1TA]l-[-1-1]lcl[—=1B[—-]cC
38 [deimiE B REHEE FL3CH X h3ABEL 114,562 s, 187 1.s4lvlvlrlrluvBlBlBlcIBl-TAl-[-1-1-T1T-1A]T-1cC
39 |dtimE =B REHEE INEHX cLLbl 81,071 0,788 | 7.51fv|rvlvlvrlvr]BlBlBlCc|IBl-[A]-]-1—-[-]-1B]—-]C
40 [deimiE =B REMEE PEEIE S Lw>5F(56< 2 088 160 [13.05l LvLlvrlv]Bl=IBlcIBl-lAl-1-1T-1T-1—-1B]—-1]CcC
41 [ =B REMEE II=EES PESTEL 21, 856 1,30 [1631]lvr]irlv]vr]IBl—=]BlIBIBl-]lA[B]-T-1-1-1B[-]C
42 [ =B REMEE ) ih X FAFELL 36, 839 5802 625 vl lv]—1-IBlclBl-1A]l-[-1-1-1-18B C
43 |dtimE EA RELHEE EiZHhX BELRBL 13,539 675 (2006l L] Ll LBl B[BlCc]IBl-A]l-T-1-1-1-1B]—-]C
44 [dmE| ENRE | ERMER Bl - 305 - BRRERR saves  shy~o- nlaynbifiunss<| 128, 464 22,260 | 5. 77l vlLrlvlvlv]BlBl=|BlBl[-[A[-[-T1T-1-1-1TA]-1cC
45 |deimE|  EIEE [ REMEE & & 3 X LLHh2REL 263, 242 70646 [ 373 lrfrfrlvBlAlBIBIB]l-]A]l-]-]-1lc|-]A]lc]|cC
46 |deimiE|  HEEFEED REHEE BiEth X LoEs< 10, 415 4507 [ 231l vfvlLrluvlv]BlBl—-[BIB][=-]lA[-]T-1T-1clclc|c]|]c
47 |deimE|  HBEFED REMEE LI PS5 D2hhH 92, 342 16,336 [11.77l L v (vl ]AlAal=]B[Bl-1TA[-1-1-1]lcl[=-TAlc]c
48 [diEE E‘f&f'}u REHEE il L& C2hh 42,931 7,150 [19.99( vl frlurlv]—=1Bl=-]BlIBl-]TA]l-[clclcl[-]c][—-]c
49 [diEE A 7 o REMEE L R#X EHEL 24,109 a8 s alvfelrlv]r]=IB]l-lTcl—-]T-1lA[=-]Jclclc][—-]B]c]|]c
50 |dtimE #IFaED FEMEBRE[E - 2FE - EhHE hhA - TLAH - FELEHMEL] 384,147 18,592 [20.66] L[ L [L]LlLv]—=]Bl=-]B[Bl[-1AlB]l-]1-1-[-TA]-1cC
51 |dtimE SR ED REMEE FaE R IZLLwARD 377,945 64,458 [ 5.86l L[l ]B[B]BlIBlIBl-[A[-]1-T1T-1Tcl—-1IB[-]C
52 |dtimE SR ED REMEE Al Romhy 116,172 23,7821 488l ]vBl—-IBlBlB]l-]A]lB[-]1T-1-1—-18B C
53 [demdE| +BEEER REMEE EEHX HLEAEL 88,076 4040 [21.80 L v Lluv]v]BlBl—-[BIB][-]lA[-T-T-Tcl—-1IB[—-]C
54 [deimE| +BEEA | RLHERE BERIHE Z D1 YL{RD25ELZD] 347,329 29,646 [11.72l L L|LrlLrlvr]BlBl=]BlB[-]A[-[-TT-1]cl-1B]-]C
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B c B/C DI PIB|D|D]|B
55 [deimE|  +BETEER REHEE H Bl I2oL&£S5ES51F 105, 817 go. 71 [ 118l lv]luvIBlAl=IB]lB|l-TA]l-T-T-Tcl—-[B]—-]CcC
56 [dbimiE #®is REMEE =5 TAHA 835, 358 35,816 (2332l L LBl Al—=IB|lB|l-[A]B[B[-[B]—-—[A]—-]C
57 |dtimE ®& REMEE [EES {2HpA 716,953 37,567 [19.08f L] BlAl—=]IB|lB|l-[A]B[B][-[B]—-—[A]—-]C
58 |dtim&E| iREIFEED REHEE REE 2 432,619 381,080 | .14/ LfrfLrlviv]IBlAaAl-IBlcIBlA[-1T-T-Tcl—=-1IB]-=-1]C¢C




